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in[-]:= SetDirectory["C:\\drorbn\\AcademicPensieve\\Projects\\Theta"];
Once[<< Theta.m]
SetOptions [PolyPlot, ImageSize - Tiny];
Clear[©]

Loading KnotTheory™ version of October 29, 2024, 10:29:52.1301.
Read more at http://katlas.org/wiki/KnotTheory.

in[-1-=  RandomVK[n ] := {
Prepend[#, 2 RandomInteger[1] - 1] & /@
Partition[PermutationList [RandomPermutation[2n], 2n], 2],
Table [RandomInteger[{-1, 1}], 2n+1]

}s
in[-]-= RandomVK [5]
Out[e]=
{{{1, 7, 3}, {-1, 6, 2}, {1, 4, 9}, {-1, 10, 1}, {1, 5, 8}},
{-1, -1, ,1,0, -1,1,1, -1, 1, 0}}
in[-]:=  CF[& 1 := Expand@Collect[5, g , F] /. F » Factore«PowerExpand;
in[-1:= Short[Options[@] = {F1 » (F1i =F,[{s@, i@, jO}]),

F2 » (F2i = F,[{s@, i@, jO}, {s1, il, j1}]), F3 - (F31=F;[¢, k])}]

Out[~]//Short=
s <«<1>>
{Fl - — +5S0 T;e gl,ie)ig gz,je)ie + <<19>> +
2 <«<1>>

S0
- S0 8>,i0,i0 83,40,50 — SO T3 82,50,10 83,j0,j0s

®
F2 - «<1>, F3 > -— +wg<<1>>}
2
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imi-)- ©[K_, opts___Rule] := Module[{x, 0o, n, A, A, G, ev, 6, kk, ko, k1, f1, f2, f3},

fl=F1/. {opts} /. Options[@©];
f2=F2 /. {opts} /. Options[@©];
f3 =F3 /. {opts} /. Options[e];
{X, 9o} =Rot[K]; n =Length[X]; A = IdentityMatrix[2n+1];
q q q o 5 . -T°T° -1
Cases[X, {s_,1_,3_}» (A|I{1, I3}, {1+1, 7+13}] += ( o 1 ))],
A= T(-Total[qw]—Total[XlIAll,l]]])/2 Det [A] ;
G = Inverse[A];
ev[& ] := Factor|[
E/o{kR_Tk+1,$52n+1} /. {8, o,z » (GIa, B /- T>T,), Xrrue > 1, Xraise > 0}1;
6 =eveSum[fl /. Thread[ {s@, i@, jO} » X[kk]], {kk, n}1;
6 += eveSum[f2 /. Thread[{sO, 10, jO} » X[keQ] //.
Thread[{s1, i1, j1} » X[k1]1, {k@, n}, {ki, n}]1;
6 +=evesSum[f3 /. {¢ » po[[kk], k » kk}, {kk, Lengtheyy}];
Factor@{A, (A/.T>Ty) (A/.T>Ty) (A/.T>Ts3) 6}

in[-]:= @[Knot[7, 3]]

KnotTheory: Loading precomputed data in PD4Knots'.

out[«]=
2-3T7T+3T2-3T3+2T*

{ T2 ’
1

(17-25T3+25T3 - 2573 +17 T3 - 25T, + 12Ty T, + 12 T3 T, - 25 T3 T, + 25 T5 -

TITS
TET - 7T3T5 - Ty T3+ 25T5T5-25T; - 7TiT3+6T3T3+6T1T3-7T3T3-25T, T3 +
1775 +12 T3 -ToT5+6T3 T3 -12T3T5+ 6T T3 - T3 T3 +12T1 T5 + 17 T3 T - 25T, T; -
TTiT 46T T3+6T3T-7T3T;-25T5T5+25T5T5 - T1T5 - 7T, T5 - T5 TS +25T5T5 -
25T§T§+12T‘1‘T§+12TZT§-25T§T§+17T‘1‘T§-25T3T§+25T§T§-25T§T§+17T§T§)}

-] PolyPlot /@ {®[Knot[7, 3]], ©[Knot[7, 3], F3-0]}

55
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il 1= 8,5 = Ximj3 Xph /3 P> 1= Xpn3
bRules[{s , 1 _, 7 }] :={ (+ b for "push indices backwards" x)
gV_:j+)/”_ bad gV:j:/’, - 6j)ﬁ’ gV_;i+)ﬁ_ g T:/S gy,‘l'._,/)’ w (1 - T:’S) gy,j,/,' - T:/s 671:/” - (1 - T:’S) 6j)ﬁ’
gvi_,ai,‘l+ Ead Ti gv,a,i + 6(1,1:*.’ gvi,ai,j* bad gv,a,j + (1 - Ti) gv,a,'i + ‘Sar,j+
}s

bRules[X List] :=Unione@e Table[bRules[c], {c, {X}}]

inl-1:= {8v,i,8s 8v,j,8} /- gRules[{s, i, j}]
Out[«]=
(Xiep+ T 8v,i,5+ (1-T5) 8.,5°,55 X5+ 8v,5,5)

inl-]:= Expand[{8y,i,ss 8v,j,8} /. 8Rules[{s, i, j}] /. bRules[{s, i, j}]1]
Out[e]=

{8v,1i,85 8v,3,8}

in[-1:= Dy¢s ,i ,53[&.1 = CF[Expand [Plus [
S/ {8 4,5 P8v,i*,55 By ,a , 58> 8v,a,i*}s
E/e {8 1,8 8v,5,85 8y ,a 5 8v,a,i*}s
-& /. {8y ,u,5 ©8v,i,8s 8By ,a ,8>8v,a,i}>s
-5 /. {8y ,u,8 8v,j,8s 8y ,a ,8>8v,a,5}
1/.bRules[{s, i, j}]1 /. bRules[{s®, i@, jO}1] /. Xeq rqual *> Xsorteeq //+ {
Xje==j1 = Xie==il» Xjeo*=j1* > Xje==ji,
Xie=-j1 = 9, Xii-jeo = @, Xier-j1+ = 0, Xier—i1* = Xie-ils Xil'-jor = 0, Xie'—jer = 9,
Xie-i1 A_ > Xie-i1 (A /. {s1l-s@, il > i@, j1 - jO})
} /. {Xie=jo 2 95 Xie'--jor = 05 XTrue 2 1}
15
B[& ] :=CF][
(& /.18y ,8,5 ©8.,,%,55 8y ,a ,8>8v,a,8}) ~ (S /. {8 ,u,5 ©8:,1,55 8 ,a ,6>8v,a,1}) /- {
8 .$,5 > X$=p> 8, ,$215 8 0,1 Xa=1} /¢ {X$=io >0, Xie'=1->0, Xs-jo = 0, Xjer-1 - 0}
15

in[-]:= Dys1,i1,413 [81,#,i0 ]
out[«]=
Y -s1 1 -s1 1
“T1%% Xieei1 - T1°0 -1+ T5Y) gain,00 + T1°0 (-1 + T1Y) 81,9110

in[-1:= Dys1,i1,91) [83,50,=]
Out[«]=
Xje=i1* + Xje=j1*

in[-]:= B[83,j0,x]

Out[e]=
1 - Xqe-1
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in[-]:= W = 81,110 3
©[Knot[7, 3], F1 - F1i-B[tw], F2 - F2i + D 11,41y [tw]] // Echo // PolyPlot
2-3T+3T72-3T73+2T714 1
» { ,
T2 4TS

(17-25T3+25T3 - 2513 + 1711 - 25T, + 12Ty T, + 12Ty T, - 25 T3 T, + 25 15 - T3 15 - 7 T3 15 - T3 15 + 2575 T5 -
25T -7T3T3+6Ti T3 +6T3T3-7T3T3-25T] T3 +17 T3 +12 Ty T3 - T T3 +6T3T5-12T7 T3+ 6 T3 T3 -
T T+ 12T T3 +17 T3 T3 - 25T, 15 -7 T3 T5+6T3T5+6 T, T5-7T0T5-25T3 T3+ 25 T3 T5 - T4 15 -7 T3 T5 -
Tng+25T2T§725TiTZ+12T‘1‘T;+12TZT;725T§TZ+17T‘1‘T§725TiT§+25T$T§725TZT§+17T§T§)}

Out[e]=

In[-]:= tW =81 jo,u3
©[Knot[7, 3], F1 - -B[tw], F2 - D1, i1,513 [tw], F3 > 0] // Echo // PolyPlot

2-3T+3T72-373+2T74

PRRTRT T

In[]:= tW =81 jo,u5
©[Knot[7, 3], F1- F1i-B[tw], F2- F2i+D,i1,j1; [tw]] // Echo // PolyPlot
2-3T+3T72-373+2T7* 1
» { R
T2 4TS

(17-25T;+25T5-25T3+17 T3 -25T,+ 12Ty T, +12 T3 T, - 25 T3 T, + 25 T5 - T3 T3 -7 T3 15 - T3 T3+ 25 75 T5 -
25T - 7TiT3+6T3T3+6TyT3-7T3T3-25T{T3+17T3+12T; T3 -T2T5+6T;T5 - 12Ty T3 +6 T, T; -
To T3+ 12T T3 +17T3T5 - 25T, 15 -7 T3 T5+6TiT3+6T; 15 - 77315 -25T3 T3+ 25 T2 T5 - T3 T5 -7 T3 Ts -
TiTg+25TfT§—25TiTZ+12T‘1‘TZ+12TZTZ—25TfTZ+17T‘1‘T§—25TiT§+25TiT§—25TZT§+17T§T§)}

Out[«]=

https://drorbn.net/AcademicPensieve/Projects/Theta/Archive/#MathematicaNotebooks



Dror Bar-Natan: Academic Pensieve: Projects: Theta: Archive: DenominatorCancellation-3.nb 2025-09-19 15:37:28

in[-]:= tW = 81, 51,50 82,41, 83,i0,113

Out[«]=

Out[«]=

In[-]:

Out[«]=

In[«]:

Out[e]=

Out[e]=

©[Knot[7, 3], F1- -B[tw], F2 - D1, 41,413 [tw], F3 > 0] // Echo // PolyPlot
@[Knot([7, 3], F1- F1i-B[tw], F2- F2i + D, 11,423 [tw]] // Echo // PolyPlot
2-3T+3T2-3T73+2T*

= &l
H N

{2—3T+3T2—3T3+2T4 1
Bl
T2 4TS

(17-25T;+25T5-25T3+17 T3 - 25T, + 12Ty T, +12 T3 T, - 25 T3 T, + 25 T5 - T3 T3 -7 T3 15 - T3 T3+ 25 75 T5 -
25T -7TiT3+6T3T3+6TyT3-7T3T3-25T{T5+17 T3 +12 T, T3 -T3T5+6T;T5 - 12Ty T3 +6 T, T; -
To T3+ 12T T3 +17T3T5 - 25T, 15 - 7T3T5+6TiT3+6T; T, - 77315 -25T3 T3+ 25T T5 - T3 15 -7 T3 T5 -
T?Tg+25TfT§—25TiTZ+12T‘1‘T;+12TZTZ—25T§TZ+17T‘1‘T§—25T5T§+25TiT§—25TZT§+17T§T§)}

bas = List @@ Expand [ (g1,x,i0 + 81,5,50) (B82,#,i0 + 82,1,j0) (83,i0*,x + B3,je*,#) ]

{81,n1,1i0 82,11,10 83,10 ,11> 81,11,j0 82,n1,i0 83,10 ,115 81,n1,i0 82,11,50 83,10 ,u1s 81,u1,j0 82,141,750 83,10%,11»

81,=1,i0 82,11,1i0 83,507,115 81,71,50 82,11,10 83,50°,51» 81,m1,i0 82,51,j0 83,0,51» 81,111,750 82,51,50 83,50",51}

Column[ (# - @ [Knot[7, 3], F1- -B[#], F2-Ds,i1,41[#]1, F3-0][2]) & /@bas]
Column[ (# - {B[#], D{Sl,il,jl} [#] }) &/@ baS]

81,71,i0 82,71,i0 83,i0",71 > ©
81,71,j0 82,71,i0 83,i0",71 > ©
81,111,10 82,11, 50 83,107,101 ~ ©
81,71,j0 82,71,40 83,i0",71 > ©
81,11,i0 82,111,106 83,507,011 —> ©
81,11, e 82,11,i0 83,507,011 —> ©
81,71,10 82,11, 40 83,j0',71 > ©
81,71,50 82,71,40 83,j0*,71 > ©

81,m1,i0 82,11,10 83,i0",11 ~
{0, ~T%0T,%° (-2+ 131+ T5%) 81,51,10 82,5110 83,10,i1 + Xio—i1 (T2 T,°° €3,10,10 +
T T5% (1T T5°) 83,50,10 + B2,10,10 (-T2 T2°° 83,10,10 ~ T1°° 15 (-1 + Ti° T5°) 83,50,10) +
81,1010 (T1%° T5°° 82,10,10 - T1°° 15,°° 83,10,10 - T1%° T,°° (-1 +T3°T5°) g3,50,10) +
g1,50,50 (T2%0T5°° (-1+T3°T5°) g2,50,50 - T1*° (-1 + T3°) T5°% 83,150,410 -
T3%0 (-1+T3%) T,°° (-1+T3°T5°) g3,50,10) +
g2,50,i0 (~T1*° T5%° (-1 +T5°) 83,50,50 - T12° T5,°° (-1+ T5%) (-1 +T3°T5%) g3,50,10) ) -
T 50 Ti S0 (7 14 Tfktép_sr:zgézjror(bn £e+t/ACéf’im%gfrjSIE;E/JTOiZCg/ZTZTa{gréh;V?g#ﬁaTematlcaNOtEbOOKS

g82,i1,10 (T2 (-1 +T3Y) T2°°81,51,10 83,50,31 + T2 (-1 + T3Y) T2 (-1 + T3°T5%) 81,41, 10 83,50,11) +

Y > R Y » N _—c]\ _— A - /] o _—C -\ /. Y \ )
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81,01,50 82,51,10 83,10-,11 = {0, ~T1%° T,°° (=24 T31 + T5) €1, 41,50 82,9110 83, 10,11 -
TP 1% (-1 + T2 T5%) (-2+ T3 + T5%) 81,541,590 82,51, 10 83, 50,41 +
82,1110 (T2%® (-1 +T5Y) T,°° 81,51,50 83,10,51 + T1°° (-1 + T3%) T2 (-1 + T2 T5°) 1,51,50 83,50,11) +
81,1190 (T2%° T5°° (-1+T5Y) @2,51,10 83,1051 + T1°0 T5%% (-1 + T3P T3%) (-1 +T3%) 82,51,10 83,50,41) +
Xio—i1 (T2 (-1+T5%) T,%° g3,10,50 + T2 (-1 + T3%) T, (-1 + T2 T3%) g3,50,10 +
81,10, 50 (Tisa T5%% 82,10,10 — T1°° T,°% 83, 10,10 - T1°° T,°° (—1 +T5° T§e> gs,ja,ie) +
g2,10,i0 (-T1%° (-1+T3%) T,%°83,50,50 - T1°° (-1 +T5°) T2 (-1+T3°T5%) g3,40,10) +
g1,50,90 (T2 T52°° (-1 + T2 T5°) g2,50,50 - T1™° (-1 + T3°) T2 g3,10,10 - T1°° (-1 + T5%) T,*°
(-1+T3°75%) g3,50,10) + 82,50,10 (T1%° T2 (-2+ 3%+ T5°) g3,10,10 - T1°° 75°° 83,10, 50 +
T59 1,58 (72 +T5O 4 Tge) (71 +T5® Tge) 83,50,10 — T1 0 T5°° (71 +T5° T;‘a) g3,ja,j9) ) }
81,11,i0 82,11,50 83,107,111 {9: ~T%0 T, (‘2 + T3+ T';l) 81,51,i0 82,51,50 83,i0,i1 ~
T 1% (-1 + T2 T5%) (-2+ T3 + T51) 81,41,10 82,51, 50 83, 50,11 +
g82,i1,90 (T2 (-1 +T3Y) T5°°81,51,10 83,50,41 + T1™° (-1 + T3Y) T, (-1 + T3°T5°) 81,41, 10 83,50,11) +
81,1150 (T2 T5°° (-1+T5Y) @2,51,50 83,1051 + T1°0 T5%0 (-1 + T3P T3°) (-1 +T3%) 82,51,50 83,50,41) +
Xio—i1 (T2%0T5%° (~1+T5°%) g3,10,50 + T2 T,%% (-1 4 T3°%) (-1+ T2 T5%) g3,50,10 +
g2,10,50 (~T1%° T5°° 83,10,10 - T1°° T5°° (-1 + T3° T5°) g3 50,10) +
g2,50,90 (~T1%° T2 (-1+T5°%) g3,50,50 - T2 T5°° (-1 + T3°) (-1+T3°T3%) g3,50,10) + 81,10, i0
(T1°°7,°° 82,10,50 - T2 T5°° (-1 + T5°) g3,50,00 - T2 T5°° (-1 +T5°) (-1+T3°T5%) g3, 40,10 +
81,5e,1e (Tise T,%° (*1 +T5° T§0> 82,50,50 + T1°0 T,°° (*2 T T§e> 83,10,i0 ~ T1°0 T,°% 83 10,40 +
T59 1,50 (72 +T59 4 Tge) (71 +TS® Tge) 83,50,10 — T1 0 T5°° (71 +T5° Tge) g3,ja)je) ) }
81,n1,j0 82,11, 50 83,i0", 11 {9, ~T%0 1% (*2 + T+ T31> 81,j1,50 82,j1,j0 83,i0,i1 ~
1,0 1,°° (*1 +T3° TS”) (*2 + T3+ T?) 81,51,5e 82,j1,j0 83,j0,i1 +
g82,i1,90 (T2 (-1 +T3Y) T2°°81,51,50 83,50,11 + T1™° (-1 + T3%) T2 (-1 + T3°T5%) 1,41, 50 83,50,11) +
g1,i1,90 (T2 T52%° (-1 +T3Y) 82,51,50 83,10,11 + T12 T5°° (-1 + T2 T5°%) (-1 +T5%) £2,41,50 83,50,11) +
Xie-i1 (T2 T5%° (-2 +T3% + T5%) g3,10,10 +
710 15 83,50,90 - T1°0 T2 (-2 + T2+ T5°) (-1 + T2 T3%) g3,40,10 +
g2,10,50 (~T1%° (-1+T5%) 7,°°83,50,10 - T2 (-1 + T3%) T,%° (-1 + T3° T5°) g3,50,10) + 81,10, 50
(T1°° T2 82,5050 - T1°° T2 (-1 + T3%) €3,50,10 - T1°° 150 (-1 +T5%) (-1+T3°T5°) g3,50,10) +
T,%0 T,%° (—1 +T5° Tie) 83,j0,j0 + 82,50, 50 <Tise T,%° (—2 + T4 T§e> 83,10,10 ~ T1°° T,°% 83, 10,40 +
Ty 1% (-2+ T2+ T3%) (-1+T3°T5°%) g3,50,50 - T2%0 T5°0 (-1 + 152 T5°) 83 40,50 ) +
81,50, 50 (Tise T,%° (*1 + T30 T§0> 82,50,50 + 1152 T,%° (*2 + T+ T§e> 83,1010~ T1°0 T5°° 83, 10,90 +
T59 1,50 (72 +T5O 4 Tge) (71 +T5® Tge) 83,50,1i0 — T1°0 T5°° (71 +T5° Tge) g3,j@,j9) ) }
81,11,i0 82,111, 10 83,507, 11 — {9: Xie--i1
((1-81,10,10 — 82,10,10) 83,50,i0 + (1 - T5°) 82,40, 10 83,70,10 + B1,j0,10 (82,50,i0 + (1~ T5°) €3,50,i0) ) +
<—1 + Til) 81,j1,i0 82,i1,i0 83,j0,i1 *+ <—1 + TSI) 81,i1,i0 82,71,i0 83,j0,i1 *+
(2-T5* - T5Y) 81,41, 10 82, 41,10 83, 50,11 |
81,11,50 82,111,110 83,50 ,11 — {@, (—1 + Til) 81,71,70 82,11,i0 83,j0,i1 *+ (—1 + Til) 81,11, 70 82,71,i0 83,j0,i1 +
(2 -3 - T§1> 81,41,j0 82,j1,i0 83,j6,i1 + Xie=i1 ( (—1 +T5% - 81,10, 50 + (1 - Tie) gz,m,ie) 83,50,i0 +

g1,50,50 (82,50,1i0 + (1-T3°) 83,50,i0) + 82,50,i0 ( (-2 + T3° + T3°) €3, 40,10 - £3,50,50) ) |
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81,111,106 82,111,150 83,50 ,151
{0, (-1+T3") g1,51,10 82,41, 50 83,50,11 + (-1 + T3") 81,i1,10 82,51,50 83,50,i1 + (2~ T3* = T3') 81,5110 82,41, 50
83,50,11 + Xio—i1 ( (-1 + T3+ (1-T3%) 81,i0,10 - 82,10,50) 83,50,i0 + (1 - T5°) 82,50,70 €3, 70,10 +
g1,50,i0 (82,50,50 + (-2 + T3+ T3°) £3,40,10 - 83,50,50) ) }
81,n1,j0 82,n1,j0 83,j8",n1
{0, (-1+T5") g1,51,50 82,i1,50 83,9031 + (-1 + T3} 81,11,50 82,51,50 83,50,11 + (2 - T3* - T3} 81,51, e
82,j1,j0 83,j0,i1 * Xie-—i1 ( (2 ST T30 (1 - Tie) 81,ie0,j0 * (1 - Tie) gz,io,je) 83,j0,i0 *
82,50, 30 ( (*2 + T30+ T;e) 83,j0,10 ~ g3,j9,j0> +

g1,50,50 (82,5050 + (-2 + T3%+ T5°) g3,50,10 - 83,50,50) *+ £3,50,50) |

In[-]:=  twW= ( (1 = Tie) 81,11,i0 82,11,i0 83,j0',u1 + (-1 + Tie) 81,51,j0 82,11, i0 g3,je*,n1) / (T2-1)
{D¢s1,i1,51) [tw], B[TwW] }
©[Knot[7, 6], F1- -B[tw], F2-De,i1,41) [tW], F3-@] // Echo // PolyPlot
©[Knot[7, 6], F1- Fli-B[tw], F2- F2i +D s 11,41) [tw]] // Echo // PolyPlot

Out[e]=
s0 s0
(1 -7 ) 81,11,i0 82,11,1i0 83,j0',11 + (—1 +T3 ) 81,11, 82,111,110 83,50, 11

—1+T2

Out[e]=

s@ s@
{ (-1+T5%) Xie-1181,50,10 82,50,i0 (-1 +T3°) Xie-i1 81,50, 0 B2, o, 0
- + +

-1+T, -1+T,
(—2 + Tie) (—1 + Tie) Xie-i1 83,7e,ie (—1 + Tia) Xie—i1 81,10, 10 83,70, 10
-1+T, : -1+T, )
(*1 + Tie) Xie-i1 81,ie,j0 83,7e,1i0 (*1 + Tie) ? Xio-i1 81,j0,1i0 83,7j0,1i0
-1+T, : -1+T, .
(*1 + Tie) ? Xio-i1 81,70, je 83,7je,1i0 (*2 + Tie)) (*1 + Tie)) Xie-i1 82,ie,i0 83,7je,i0
-1+T, - -1+T, :
(-1+73°) (-3+T3°+273%) Xio-i182,50,10 83,50,i6 (-1 +T3%) (-1+T3') g1,41,10 82,11, 10 83, 50,11
-1+T, ) -1+T, :
(-1+T5°%) (-1+T3) 81,91,50 82,51,10 83,590,112 (-1 +T5°) (-1 +T5") 81,i1,10 82,91, 10 £3,je, 1
-1+T, ) -1+T, :
(-1+75°%) (-1+T3) €1,11,50 82,51,10 83,50,1 (-1 +T5°) (-2+ T3* + T5') 81, 41,10 82,91,10 83, 50,11
“14T, : . B

(—1 + Tie) (—2 + T3+ Til) 81,51, j0 82,71,10 83,70,i1 (—1 + Tia) Xie—i1 82,50, 10 83,7e,je 0}
14T, 14T, ’

1-5T+7T2-5T3+74

)
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Out[«]=
1-5T+7T2-5T3+7%
» {7 ,
TZ
1 2 3 4 2 3 4 5 2
o (1-5T1+7T]-5T3+T1-5T,+20T;T,-10T3 T, -18T; T, +20 T3 T, -5T3 T, + 7 T5 -
T1T2
10T, T2-64T2T2+98 T T2-64TIT2- 10T, T2+ 7TST5-5T3 - 18T, T3 +98 T2 T2 -50 T2 T3 -
50Ty T3+98T: T, -10TT5 - 5T, T5+T5+20T, T3 -64T; T3 -50T; T3 + 108 T T3 - 50 T; T; -
6 T4 7 4 8 +4 5 2 15 3 15 4 +5 5 +5 6 15
BAT T3 +20T, To+T8T5-5T,T5-10T2T3+98T3T5;-50T;T5-50T5;T5+98T5 T -
10T T -5 T+ 7T TS - 10T T - 64 TI TS+ 98 T3 TS - 64 TS TS - 10T TS+ 7 T8 TS -5 T3 717 +
20T‘1‘T;710TiT3710TfTZ+29TiT;75T§TZ+T‘1‘T§75TET§+7T§T§75T1T§+T§T§)}
Out[e]=

in[-]:= CF[Residue[CF [Xjp..i1 F1i + F2i + D3 51,923 [tW]], {T2, 1}] /.
(83,0 ,5 81,0, 82,0 ,8 > Xasp} /+ {Xiesie 2 1, Xjesjo = 1} ]
out[e]=
(-1+T3°) x1o-11 (-1 + Xie-50 — Xje<io + T3 Xje<io) 81,50,i0 -
2
(-1 +T5°) Xio-1181,10,50 81,50,i0 - (-1 + T5°) " Xio-i1 87 jo, 10 -
(*2 + Tie) (*1 + Tie) Xie-i1 81,5e,1ie 81,5je,j0 — (*1 + Tie) (*1 + Til) (Xi1=je — Xj1<je) 81,5e,i1 81,51,ie +

(*1 + Tie) (*1 + Til) (Xi1=ie — Xj1<ie) 81,5e,i1 81,41,7e
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